








MATHCMATICS By Pradeep Sir

Q. 1) The mean proportion between 6 and 24

a. o IS
// 6, 24 BT HATUTH FTd FHTC-
laxb (NRE
_ (B) 8
s
- ORE
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Q. 2) The third proportion to 18 and 24 are
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Q. 3) Find the fourth proportional between 6,
c Al 8 and 15
= g?; 6, 8 TYUT 15 BT AGYIIUT! JTd DIfoIg-
=
i 8 1S ® 2
\ / (C) 15
Y & (D) 10
B g0
—
23 Y —
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Q. 4) If 165% of x=37-% of y then x:y is :

3

uﬁxﬂl6§%=yﬂ37%%%,?ﬂx:yﬂﬁ"“?

(A) 5:3

(C) 2:3
(D) 3:2
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Q. 5) The ratio of 2535 ;: 545 js same as
gfe 2535 : 545 BT ﬁﬁ?ﬂ'ﬂﬁ BII-
(A) 27V/5:3
(C) 22v/5:3
(D) 24+/5: 2
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L4494 = — 1
- -2= 2 —\) Q. 6) The sum of two number is equal to 117 and
> =k 5 their difference is 9%. The ratio of the two
d SR oz:] numbers is: —
—> gl SEmaft &1 T 111 8 3R IFFT =R 9~ B
ALay = (0° 9 11
= = B3 BT U T R 2 —
DY CEEl
é-/—’ il (B) -7:9
| oo ]goj,l:l_?_ﬁ v \_?_,Oj (C) 3:5
{74— DU Rl A (D) 2:7
el ~~
E
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Q. 7) If the income of A is 10% more than of B

A\ St C and the income of B is 20% less than that of C,

then the incomes of A, B, C are in the ratio.

aft A #} o B & 10% oifir & 3R B FH ama C
ALz e ot ¥ 20% PH @ A, B, C & 3T BT JFUTd &I

Bic = %o g 2
u (A) 11:10:8

L (B) 10:9:7
\ ' - : W" ﬂ e
4igit =X (C) 22:18:25
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4 - Bx Q.8)IfAis 3/4 part of B, B is 1/2 part of C and
“A C is 4/5part of D then find value of A: B:C: D?
b = “‘Lz i A, B & 3/4 URT S, B, C &_1/2 T & qUTC,
D & 4/5 U & a&R 8, df A : B: C: D fusd
¢ = P% H_. .
T TEY BT 2
A : B - ! L‘, (A) 3:5:7:10
) ll/'\’l- (B) 2:3:7:9
I i X ‘;’,“ - (D) 3:5:6:9
3w B A
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a :
d ozol/’\_ob

Q.9fa:b=35,b:c=7:8and c:d = 2:3,

————

then 2a: icj is equal to:

Uﬁa:b=3:5,b:c=7z83?f'\’c: = 2:3 @l

(A) 7:20
(B) 1:2

(D) 7:15
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A B - +__§_§ o _{_:,D Q. 10) A sum of ¥ 817 is divided amongst A, B
u and C so that A gets 25% more than B and B
6 . C 3 ;:5 N gets 25% less than C. find the share of each.

___ —— WITHABCATHUSRAlcAIE [F A DI B
A:g:c= 15 12.\b ﬁZS%mmméwsaﬁcﬂZS%m

15 . 1¢
“""‘""77 ST 2 a g BT e dan
T Y e
A= Z—n!d w2 (B) A-228, B-304, C-285
¢ s (C) A-304, B-285, C-285
@ - Q%$x @&.\/\\(o (D) None of these / ?FTﬁ E | ?ﬂ%‘ Ttﬁ
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Q. 11) A sum of money is distributed among
S j’d' faf A,B,C and D in the ratio 5: 7:mespedively. If
C gets ¥2,480 more than_B_:_ then the difference
\" — LU 80 between_t;; shares of B and D is:
o9 TS AR P A, B, C 3R D & &9 HUW: 5: 7:11:15
A489 & ¥ orqura & Rafa fear v 31 af ¢ 31 8 2
o 22,480 3@ fred €, dt B 3R D & AW & o
N \4 al L © Ca K< GEY '?v:
é’ (A) 4,690 (B) ¥ 6,490
A(,,/ (D) ¥ 4,950
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_ry - S| Bec¢ Q. 12) A sum of Rs.31866 is divided between

————
A, B and C such that the ratio of shares of A

=

f

B _ : and B is 9:8 and that of A and C is 4:5. The
V- 3(\\73 share (in Rs.) of B is:

_/__i_‘__“%, 31866 ¥Ud I MR BT A, B 3R ¢ & &9 39
T 3'/2,136:14{' avg fawfora far oirar 8 % A iR B & IR
b T — BT 3JUTd 9 : 8 8 3R A 3R € & AW I

br\@ 3UTd 4 : 5 81 B &1 a1 (702 #) &:
9%/61\ 5 (B) 120600 )
3,

| ‘-
= (C) 10152 1 (D) 8460 ).
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Q. 13) ¥3400 is divided among A, B, Cand D in
such a way that the ratio of A's and B's share,
B's and C's share and C's and D’s share are 2:3,

A.l &=L 3 4: 3 and 2: 3 respectively. Find the total share

4 of B and D? B
B¢ = U2 33400 &I A, B, C, D ¥ 39 WK faurfora fan
—_— ST 8 & A B%nmﬁ Baﬁ'\*céfurrﬁc
A:&ic:kali- aﬁ?b%»'wﬁ -3, 4: . 3%

‘ | * P%“Q‘Q‘ . 5L

38, dIB
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Q. 14) In a factory, the ratio of the number of
M ud male workers to the number of female
: workers is 3:1. The ratio of a male and a
female worker’s daily wages is 4: 5. If 15 male
workers are kept and daily wages of all work-
ers is 510 then, total wages of all female
workers is?

hacdt # TSHT 3R 3d 3: 1 & =urd |
%mﬁlmm%ﬂm
3UTd HU: 4 : 5 g1 TG 15 Mgt ¥E ¢ §
aﬁzwgmgm%hﬁ%&aqzsw%,a’tmﬂ
ML Tl wT e ——
P

\SO B) ¥ 14(
H

(D) ¥ 297.50
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& | 7 éq (S —? | Q. 15) When ticket prices to a water park are increased in the ratio
= v17.64:1/15.21 then the number of daily visitors to the park fall
@ L‘ in the ratio V/21.97:V27.44. If the daily revenues before the

increase in ticket price was 39,10,000 then find the daily revenues

after the increase in ticket price.

¢3¢y
ARG \££ ? mwamm’ésﬁf?ﬁaﬁaﬂuﬁanvlsn%wﬁmaﬁ
\@ @ mwawﬁmmaﬁmaﬁmm 97:327.44

P ¥ U A ARt 31 9 R @t Fiwa A o o33 A ugd
P- 4= é &f® g ¢ 9,10,000 yT @ fewe ot Itwa d IS 1 F a1g
- y{ 7 T g3t e Yerea gra FY |

/-—-‘—ﬂ (A) 2,64,000 (B) 1,12,000

i
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Q. 16) A person left ¥ 8,600 for his five sons,
4 daughter and 2 nephews. If each daughter
gets 4 times the share of his nephews and each

son gets 5 times the share of his nephew, then
the share of each daughter is

aafad 3 28,600 5 d¢, 4 afeal 9ur 2
Wm*mﬁélggﬁméﬂﬁ__mm
dYT Ul® a¢ Bl WAl BT Uid AT HIT

IR

firet 9t v a3 BT T T BT -
—u

INE& [ (B) ¥ 600

(C) % 800 (D) ¥ 1000
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Re= 5920
——
M w" e
& eV 13
XS XD );
S 3z
— W
™ L w:m
Wt T gy
W

Q. 17) ¥ 5920 divided among 8 men, 10
women and 12 children each man gets 25%
more than each woman and each women gets
25% more than each child then find the
amount received b{ each women ?

T 5920 P! 8 , 10 IR 129 &
a9 # dicaT 21 U@ m%@
25% TP dYT UdD & UdD q
25% 3Tt firedar 81 vd® afedr & gRT U
NIERIGE Ed —
(B) 100
(C) 108 (D) 101
SHZO °L°%
=

2 229 b~
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Q. 18) The ratio between two numbers is 3: 4.

If 6 is added in each, the new numbers are in

the ratio 4:5. find the given numbers.

3l T@mai # U 3 : 4 BT ¢ e AP F&M

+6 % 6 g far ame A U 4 : 5 B T B
HE&IT JTd DIToIT -
(A) 24, 30

\/ (C) 30, 40
3)’—/M°¢ - 5 (D) None of these / 9H | ®Is T8l
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Q. 19) In a school, the number of boys and girls are in

0] d &__@__\A__—; Ratio 5: 3. Some new boys and girls took admission in
t! 3 the school in the ratio 5: 7. Now, the total number of
e 1 q students in the school are 1200 and the ratio of total

___5_—.7\:!“‘ ' _§_7\.2~\ number of boys and girls become 7: 5. Find the number
' of students initially.

_F Y wﬁamﬁasﬁ@asw_ﬂmeﬁm

o

S aséa%mmg? “ﬁm
/,l-’?\ ﬁmﬁftﬁaﬂmuoos’i

nuﬁﬁq

S AuS w0 Ay
N w(q 920 (D) 1000

a ﬁé
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Q. 20) The total number of students in a
school was 660. The ratio of number of boys
and girls was 13: 9. After some days, 30 girls
joined the school and some boys left. The new
ratio of number of boys and girls became 6: 5.

Find the number of boys who left the school.
CRIGER:] f&zrrﬁfu* @t ST 660 Ut AP

3R P BT BT 13 : 9 UTI

e T e e

ggm,awaaﬁgﬁsaamammas
, s

(A) 50
B) 40

(D) 60
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Q. 21) The ratio of the number of students of
three class is 2:3:5. If 20 students are added in
each class then the ratio becomes 4:5:7. Find
the number of student in each class before

ddi
?ﬂq;g&naﬂﬁma’fmamran

5
mﬁmﬁzommﬁﬁﬂﬁa’reﬁm
4:5:7 B! 9TdT &, &1 § Ugd fbaa o

(A) 200

‘B' 80

(D) 150
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°5~[§ Q. 22) There are two containers of equal
— capacity. The ratio of milk to water in the first
ML W container is 3: 2 and in the second container is
— 5: 2. If they are mixed up the ratio of milk to
T 3 . AR% water the mixture will be:
& gd- WU &Wal & g1 i gy g url #I
AR 3UTd HHR: 3 : 2 3T 5: 2 § 3R 3¢ HaH W
— uTed for & U @ Uit 1 SuTd 3T $R) 2
(A) 28:41
K 1Y (B) 41: 28
\ C) 15:41
ds e
L 2T
23118 A
—
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. 1 Q. 23) Two bottles contain acid and water in
S 72 the ratio 2: 3 and 1n: 2 respectively. These are
mixed in the ratio 1: 3. What is the ratio of
A ' LS acid and water in the new mixture ?
T &l diadl # HUW: 2 : 3 3R 1:2 F U | 3
R . Sh}/?‘l 3R 9 81 36 1: 3 B uTa | foye faar Srar
~_ 4 qu fayor d e 3R &d &1 |
A
VLY
(B) 11:57
| (C) 23:37
‘i’ ) ?,D (D) 1:3
I ‘ —
13 A
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Q. 24) A man spends 75% of his income. His
income increases by 20% and his expenditure
also increases by 10%. Find the percentage

increase in his savings.

PIS AfRT YT ATT BT 75% HIT @A ST |
IUP! AT 20% d¢ STl ¢ AR IHPT Gd_H
10% ¢ WTdl 31 9arz¢ ISl gad d fbaa
ufa<a ot gfs 8§38 2

(C) 15%
(D) 10%
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Q. 25) The ratio of the income of Neha and
Ravi is 4: 3 and the ratio of their expenditures
is 3: 2. If at the end of the year, each saves ¥
2,500, then the income of each will be

aﬁ? I & 3P
L f'?’?uﬁmaq'%"uég Jaws

RS LI

& 10000 7,500

(B) 12,000; 10,000
(C) 6,000; 4,500
(D) 8,000; 6,000
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-4( 2 o0 4200 Q. 26) The ratio of income of Gyan: Amit is 3: 2
C = ( — and ratio of their expediture is 4: 3. If they
N 2 6 ag save ¥2,000 and 900. Find their income.
L1 \ T 9T SHfd P 31 I U 3 : 2 qUT @
mgmms%mﬁ:%m: ? 2000 TUT 2
- 900 P! F9d Hd &, dl IAD! T JTd HIfeIT ?
o( Qoo q00 J
"2
| (B) 4800, 7200 — 5 . 2
e WS (C) 3600, 2400 —5 ~ .
(D) 6600, 4400, 5 3
| —9 YOO
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20,000 \ Q. 27) The ratio of my earning of two

s 0% consecutive years is 2: 3 and the ratio of my

T G.'b expenditures is 5: 9. If my income of second

™ o . N\Z ) ¥S00P yearsis ¥45,000 and the expenditure of first

——— yearis ¥25,000 then the saving of two years is
X ?mmﬁaﬁaﬁﬁﬂmﬁzqggmwg
. AU H5:9 P AUId & Al
5 I3 e3ymo aﬁﬁusooos‘fa}ugg # A3 399 25,000
CEGRE

E%
F )swo @w = ﬁ?ﬁﬁﬁ—i%ﬁ n—
s S0 (A) Nill/$D
AN - (B) ¥ 15,000
C) 10,000
0
S0°
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Q. 28) The ratio of expenditure of A, B and C is
20: 28: 18 and their total income is ¥ 1001.
7‘3L,) 4 M Find the share of B's income, if they save
16.66%, 12.5% and 14.28% of their income ?

A, B TYT C & W &I 3 UTd 20: 28 : 18 § dYUT
I P AT 1001 gl TS T HHAY: 16.66%,
12.5% dUT 14.28% ! g9d HId &, dl B B! 37
FTd DIfeIT ? —— -

(A) ¥ 490

(B) ¥ 475

(D) ¥ 520
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Q. 29) The monthly salary of a man was %
13,500 and his expenditures were ¥9,000. Next
year his salary increased by 14% and

expenditures increased by 7%. Find the

ercentage of his increased saving.
Fhﬁ?m%raﬁnmmf 13,500 4t YT
tﬂmam? 9,000 UT| 31TS 94 ITBT 3TT 14%

gé wmmmaanmlmaﬂmﬁ

(A) 29%
(B) 25%

C) 30%
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R = A (). 30) A box contains 56 in the form of coins of one rupee,
50 paise and 25 paise. The number of 50p coins is double

the number of 25 paise coins and four times the number of

| RA 50p 5P one rupee coins. How many 50 paise coins are in the box?
@ | ‘; ‘o TP A H56 TUA S FUH 1900, 50 WA qur 25 WA &
B R 5 Rra 81 50 T4 & Rl @t W@, 25 9 & Ryawl o1 w@n
= ' | X ﬁM%W1W&$mﬁm%a’fmﬁsoﬂﬁ$
2 . | Rra R &2
A (A) 66
_éf_,ﬁ"i g (C) 56 (D) 60
;I(;%Jé Lot f—@z:;fé——‘
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(). 31) A box contains 590 coins of one rupee, 50 paise and

25 paise. The value of each kind of the coins are in the ratio

of 3/1%: 3/4%. Then the number of 50 piase coins is :

TH aTH 590 RGP v U, 50 0/, 25 T S U A ¢ gfe

RECOR:IC] H\/T%;Lijggawmmﬁﬁa‘isoﬁ%ﬁw’f

B =T FTd B ?
(A) 100 (B) 110
(C) 120 (D) 130
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Q. 32) Three persons start walking from A to B.
The ratio of their speed is 4 :3: 5. find the ratio of
their time to reach at the point B?

a9 aafed RIF A § ®IF B & forw Ugd 9ad g!
IT®! U1 4: 3:5 F FUd H 81 I7P gRT B W

\9/ Uga+ | e & aret 9Hg &1 3=uTd gHT-

(A) 10:15:13

)\« (B) 2:3:4
(C) 15:20:12
(D) 16:18:15

L




MATHCMATICS By Pradeep Sir

Q. 33) A diamond broke into three part, the ratio
of weigh of three part is 2:3:4. The price of
diamond is directly proportional to its square
weight. If the loss ofR 52000 after breaking
diamond then what was the starting price of
diamond.

T 3 2 o g man g9 91 e & o= &1
g%rraz 3:4 % gaﬂaﬁaﬁamméﬁﬁ%

aﬁmﬂ gl gfe gﬁagﬁ YT ¥ 52000 BT
TP g3 ﬁaﬂlm

(A) 80000

(B) 50000

(C) 60000

(D) 81000
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Q. 34) If a sum of 31,170 were distributed among A, B

and C in the ratio 2 : 3: 4, by mistake, in place of

va-

wlu-

-a-lv-
~

who was benefited most and by how much?

gz 170 B AWMABIR cF T TOR A .22 F

RIM W 2:3:4 & AUTd # faaiva ot 18 ot 5 waifte
3R e @y farem 2

(A) B, ¥ 270 (B) A, ¥ 280

(C) B, ¥ 220 (D) C, ¥ 250
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(. 35) A policeman starts to chase a thief. When
the thief goes 10 steps the policeman moves 8
steps and 5 steps of the policeman are equal to 7
steps of the thief. The ratio of the speeds of the

policeman and the thief is:

UP I UP OR & WIS YITET g1 afe IR 10 &
Tddl & ol SINT 8 HSH Tl & MR SINT & 5 HeH
AR & 7 HgH & a7 ¢! d ISt T1dl BT U
RIGE 24

(A) 25: 28 (B) 25: 26

(C) 28: 25 (D) 56: 25




